EARAROBEEIERT — 2 N— IBISH —F

20129 1A8H (B) 1E+12H

=g 5005T ¥5%3& (BE) (5K Bk

‘ [R1%] & ‘ [REBE] — | Z (%) 20000 B

[A~&£] 17 :9,500,000  ~ 23 :3,800,000 § . 37&:2,400,000 3 4 7 :1,400,000 F 5 & :950,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S S RERE T :01. -1-1- . . EREg— (EX)
(5l g| xToamnr=y 3 i 2((!)6 1-1-1-1 [36.1| 97.5 | 5 (5_240) T
WEATA T v— B:7rxO—X =te
Se 84 ZHER :02. —-9-9- . . BRFEL (EH)
2l5lg|¥a>Tib—i A = (22012/20) 6-9-9-8 |35.6| 93.4 | 1 (5_03 i
R:F4—T4>7 b B:FLEZDXvy b BT 7 —L4
LR 4 3 | BRES 2:02.1 12-12-12-10{ 35.4 | 92.3 | 3 450 | ETERE ()
3 6 ta> KE7Z v b 54.0 (1/2) (-a) ("ﬁ‘)ﬁ*i’a‘v—zrk—z
R:NnN=Y774 B:I-E-X—-KI HET7—L
=i, S gb— 4 3 | HE-—H :02.1 3-3-3-3 [36.3] 925 | 9 482 | BB (Ei#)
412 ®ATIVIT =}k 56.0 () o | 8 tHs
R:7Rv14v¥ao—-> BxA4F—T1h pusg ¢
e S . # 3 | Bl 2:02.1 13-13-12-13| 35.3 | 92.3 | 4 444 | EFME— (EH)
511 | XTI *NT1—> 56.0 (7€) 4g) | W) FITLYKIST 5747
LG E— BiL—E—Z71)—> HRIEARKIS
LEER . —13-14- KIRY (£
6 S| UTFLTLT 4 3 il (21.012/.43) 13-13-14-14| 35.3 | 90.3 | 6 ‘22? ] (=)
L:TL>FFE2T71 B:ZT7714/N\—Fb HET77—L
P S5 t 3 R AH 2:02.3 6-6-6-6 | 36.1| 90.5 3 480 | BWIIEE (Ei)
7 4 ¥—-JEU—-E>Y x 57;?3_0 () ! (+16) () INTyp—L
/IR B:OYNy hT5T— Jiirae]
. HIDa1E : ~15-15- LREIES (E#)
8 A s e DDED) 43 =3 2(/%:) 15-15-15-14| 34.9 | 90.2 | 7 (:?g) LR
L:79% % BRANIIIXE— () #8a—-FL—->a>@qE77
L) AE # 3 | EREE 2:02.5 4-5-3-4 | 36.6| 88.7 | 10 | 476 |fREEEE (X#)
98|14 AT TE—-X 56.0 (1) (-6) FRIRFIE
R:a4%> v ML B:7270-—% RS
Son g LD :02. -11-11- . . HIIEZE (£#)
10 7| ¥>KURT 4T b 4 3 iy 2(/(\)27L;5 11-11-11-10| 36.0 | 88.4 | 14 g? S
RV RYIYRIR B AA—RILER UL ¢
j = =z = 4t 3 | EPEE 2:02.6 8-9-9-10 |36.2| 87.5 | 8 476 | =/ BHF (FH)
17013 77217 > X4 -7 56.0 (3/4) (-) |'BEE
RTFATLREA L BiAUE REKS
S oS 4 3 | SHEA 2:03.0 8-6-6-6 |36.9| 84.1 | 11 470 | DNEERDR (3538)
1oy 10 E¥Y—ANFX 54.0 2 1/2) (-6) BIEBH— 25
R:v—NFAHY>F— B:eIT7IUTT hid  HEER
251 —q— K 4 3 | ALHERRE 2:03.1 4-4-3-4 |37.2| 83.3 | 2 454 | BERFNME (E3H)
13 3 IAFY—3a-FR 56.0 (3/4) (+4) AT
RixA1=ZTyr—2 BTy ya-K #HET77—L4
oL A 4 3 | REHEX 2:03.4 8-6-8-8 |37.1| 80.4 | 12 | 480 |FIHIEE (X#)
140&Y 5 | AR ENILZ 56.0 (1 3/4) w2 | B oy oLy K7 —i
RO—JXA A BA XA EvilLy RTp—L
Y . 43 | ATR 2:03.7 2-2-2-2 | 38.1| 78.6 | 15 474 |BTEZ (ERH)
15/8 (15| ®@F > 77V F v 6.0 (1 3/4) e |EAMM
LR=2F%2d B:hLoxsdq4y IR FEE
@ 21 L
£ 48.3-36.1
NA> 24 LA | 12.8-10.9-12.9-12.2-12.5-12.0-12.2-12.0-12.0-12..1
® 1—F—@EBIERL
1T=7r= (¥9,15)12(3,14) (4,8) (5,10,13)7,6(1,2) 11
Pal=5F= (x9,15)-12,3,14(5,4,10) (8,13)7,6(1,2)-11
Jo=5r= (x9,15) (3,12,14) (4,10)5(8,13)7(1,6) 2-11
40—+ — 9,15,12(3,14) (4,10) (5,8) (7,13,6)1(11,2)
[ N5
B 9 770MH 714K 8-9 680F e E 5-5 1,640 JEE 6-8-9 2,870
# B 9 230H 6-9 620M B = 8-9 1,670M 3EE 9-8-6 22,720/
8 170 6-8 490M B H 9-8 4,190M
6 1809

ABICOVWTRDTEEERROODE. TR LIV,




